



Q. Find the eqn. of evolute of the astroid
 $x^{2/3} + y^{2/3} = a^{2/3}$

Soln.

Parametric form
 $x = a \cos^3 \theta$ $y = a \sin^3 \theta$

$$\frac{dx}{d\theta} = 3a \cos^2 \theta (-\sin \theta) \quad \left| \quad \frac{dy}{d\theta} = 3a \sin^2 \theta (\cos \theta) \right.$$

$$\frac{dy}{dx} = \frac{dy}{d\theta} \times \frac{d\theta}{dx} = \frac{3a \sin^2 \theta \cos \theta}{-3a \cos^2 \theta \sin \theta}$$

$$= -\frac{\sin \theta}{\cos \theta}$$

$$y_1 = -\tan \theta$$

$$\frac{d^2 y}{dx^2} = \frac{d}{d\theta} \left[\frac{dy}{dx} \right] \frac{d\theta}{dx}$$

$$= \frac{d}{d\theta} [-\tan \theta] \cdot \frac{1}{-3a \cos^2 \theta \sin \theta}$$

$$= \frac{-\sec^2 \theta}{-3a \cos^2 \theta \sin \theta}$$

$$y_2 = \frac{\sec^4 \theta}{3a \sin \theta} = \frac{1}{3a} \csc \theta \sec^4 \theta$$

$$\bar{x} = x - \frac{y_1 (1 + y_1^2)}{y_2}$$

$$= a \cos^3 \theta - \frac{(-\tan \theta) (1 + \tan^2 \theta)}{\frac{1}{3a} \csc \theta \sec^4 \theta}$$

$$= a \cos^3 \theta + 3a \frac{\sin \theta}{\cos \theta} \frac{\sin \theta \cos^4 \theta \sec^2 \theta}{\cos \theta}$$

$$= a \cos^3 \theta + 3a \sin^2 \theta \cos^3 \theta \frac{1}{\cos^2 \theta}$$

CS Scanned with CamScanner



$$\bar{x} = a \cos^3 \theta + 3a \sin^2 \theta \cos \theta \rightarrow (1)$$

$$\begin{aligned} \bar{y} &= y + \frac{1+y_1^2}{y_2} \\ &= a \sin^3 \theta + \frac{1 + \tan^2 \theta}{\frac{1}{2a} \csc \theta \sec^4 \theta} \\ &= a \sin^3 \theta + 3a \frac{\sec^2 \theta}{\csc \theta \sec^4 \theta} \\ &= a \sin^3 \theta + 3a \frac{1}{\csc \theta \sec^2 \theta} \end{aligned}$$

$$\bar{y} = a \sin^3 \theta + 3a \sin \theta \cos^2 \theta \rightarrow (2)$$

$$\begin{aligned} (1) + (2) \\ \Rightarrow \bar{x} + \bar{y} &= a \cos^3 \theta + 3a \sin^2 \theta \cos \theta + a \sin^3 \theta + 3a \sin \theta \cos^2 \theta \\ &= a [\cos^3 \theta + 3 \sin^2 \theta \cos \theta + 3 \sin \theta \cos^2 \theta + \sin^3 \theta] \\ \bar{x} + \bar{y} &= a [\cos \theta + \sin \theta]^3 \rightarrow (3) \end{aligned}$$

$$\begin{aligned} (1) - (2) \\ \Rightarrow \bar{x} - \bar{y} &= a \cos^3 \theta + 3a \sin^2 \theta \cos \theta - a \sin^3 \theta - 3a \sin \theta \cos^2 \theta \\ \bar{x} - \bar{y} &= a [\cos \theta - \sin \theta]^3 \rightarrow (4) \end{aligned}$$

Taking power as $2/3$ on both sides of (1) & (2)

$$\begin{aligned} (\bar{x} + \bar{y})^{2/3} &= a^{2/3} [\cos \theta + \sin \theta]^{3 \times 2/3} \\ (\bar{x} + \bar{y})^{2/3} &= a^{2/3} [\cos \theta + \sin \theta]^2 \rightarrow (5) \end{aligned}$$

$$\text{and } (\bar{x} - \bar{y})^{2/3} = a^{2/3} [\cos \theta - \sin \theta]^2 \rightarrow (6)$$

$$\begin{aligned} (5) + (6) \\ \Rightarrow (\bar{x} + \bar{y})^{2/3} + (\bar{x} - \bar{y})^{2/3} &= a^{2/3} [\cos \theta + \sin \theta]^2 + a^{2/3} [\cos \theta - \sin \theta]^2 \\ &= a^{2/3} [\cos^2 \theta + \sin^2 \theta + 2 \cos \theta \sin \theta + \cos^2 \theta + \sin^2 \theta - 2 \sin \theta \cos \theta] \end{aligned}$$

$$= a^{2/3} [1 + 1]$$

$$(\bar{x} + \bar{y})^{2/3} + (\bar{x} - \bar{y})^{2/3} = 2a^{2/3}$$



Unit-3 continuation...

5]. Find the evolute of $\frac{x^2}{a^2} - \frac{y^2}{b^2} = 1$

Soln.

$$\begin{aligned} \text{Take } x &= a \sec \theta & y &= b \tan \theta \\ \frac{dx}{d\theta} &= a \sec \theta \tan \theta & \frac{dy}{d\theta} &= b \sec^2 \theta \end{aligned}$$

$$\begin{aligned} \text{Now } \frac{dy}{dx} &= \frac{dy}{d\theta} \cdot \frac{d\theta}{dx} \\ &= b \sec^2 \theta \times \frac{1}{a \sec \theta \tan \theta} \end{aligned}$$

$$\frac{dy}{dx} = \frac{b \sec \theta}{a \tan \theta}$$

$$\frac{d^2 y}{dx^2} = \frac{d}{d\theta} \left[\frac{dy}{dx} \right] \frac{d\theta}{dx}$$

$$= \frac{d}{d\theta} \left[\frac{b \sec \theta}{a \tan \theta} \right] \frac{1}{a \sec \theta \tan \theta}$$

$$= \frac{b}{a} \left[\frac{\tan \theta \sec \theta \tan \theta - \sec \theta \sec^2 \theta}{\tan^2 \theta} \right] \frac{1}{a \sec \theta \tan \theta}$$

$$= \frac{b}{a} \left[\frac{\tan^2 \theta \sec \theta - \sec^3 \theta}{\tan^2 \theta} \right] \frac{1}{a \sec \theta \tan \theta}$$

$$= \frac{b}{a} \left[\frac{\tan^2 \theta - \sec^2 \theta}{\tan^2 \theta} \right] \sec \theta \frac{1}{a \sec \theta \tan \theta}$$

$$= \frac{b}{a} \frac{-1}{\tan^2 \theta} \frac{1}{a \tan \theta}$$

$$\frac{d^2 y}{dx^2} = -\frac{b}{a^2 \tan^3 \theta}$$

$$\bar{x} = x - \frac{y_1 [1 + y_1'^2]}{y_1''} = a \sec \theta - \frac{\frac{b \sec \theta}{a \tan \theta} \left[1 + \frac{b^2 \sec^2 \theta}{a^2 \tan^2 \theta} \right]}{-\frac{b}{a^2 \tan^3 \theta}}$$



SNS COLLEGE OF TECHNOLOGY

(An Autonomous Institution)

Coimbatore-641035.



Unit 3-Differential Calculus

Evolutes

Sixam.N

$$\begin{aligned}
&= a \sec \theta + \frac{b}{a} \frac{\sec \theta}{\tan \theta} \frac{a^2 \tan^2 \theta + b^2 \sec^2 \theta}{a^2 \tan^2 \theta} \times \frac{a^2 \tan^3 \theta}{b} \\
&= a \sec \theta + \frac{a^2}{a} \sec \theta \tan^2 \theta + \frac{b^2}{a} \sec \theta \sec^2 \theta \\
&= a \sec \theta + a \sec \theta \tan^2 \theta + \frac{b^2}{a} \sec^3 \theta \\
&= a \sec \theta [1 + \tan^2 \theta] + \frac{b^2}{a} \sec^3 \theta \\
&= a \sec \theta [\sec^2 \theta] + \frac{b^2}{a} \sec^3 \theta = a \sec^3 \theta + \frac{b^2}{a} \sec^3 \theta
\end{aligned}$$

$$\begin{aligned}
\bar{x} &= \left[\frac{a^2 + b^2}{a} \right] \sec^3 \theta \\
\bar{y} &= b \tan \theta + \frac{\left[1 + \frac{b^2 \sec^2 \theta}{a^2 \tan^2 \theta} \right]}{-\frac{b}{a^2} \tan^3 \theta} \\
&= b \tan \theta - \frac{a^2 \tan^3 \theta}{b} \left[\frac{a^2 \tan^2 \theta + b^2 \sec^2 \theta}{a^2 \tan^2 \theta} \right] \\
&= b \tan \theta - \frac{\tan \theta}{b} [a^2 \tan^2 \theta + b^2 \sec^2 \theta] \\
&= b \tan \theta - \frac{a^2}{b} \tan^3 \theta - b \sec^2 \theta \tan \theta \\
&= b \tan \theta [1 - \sec^2 \theta] - \frac{a^2}{b} \tan^3 \theta \\
&= -b \tan \theta \tan^2 \theta - \frac{a^2}{b} \tan^3 \theta = -b \tan^3 \theta - \frac{a^2}{b} \tan^3 \theta \\
&= \left[b - \frac{a^2}{b} \right] \tan^3 \theta \\
&= \left[\frac{-b^2 - a^2}{b} \right] \tan^3 \theta \\
\bar{y} &= - \left[\frac{a^2 + b^2}{b} \right] \tan^3 \theta
\end{aligned}$$

Now,	$\bar{x} = \left[\frac{a^2 + b^2}{a} \right] \sec^3 \theta$	}	$\bar{y} = - \left[\frac{a^2 + b^2}{b} \right] \tan^3 \theta$
\Rightarrow	$\sec^3 \theta = \frac{a \bar{x}}{a^2 + b^2}$		$\Rightarrow \tan^3 \theta = \frac{-b \bar{y}}{(a^2 + b^2)}$
\Rightarrow	$\sec^2 \theta = \left[\frac{a \bar{x}}{a^2 + b^2} \right]^{2/3}$ ↳ (1)		$\Rightarrow \tan^2 \theta = \left[\frac{b \bar{y}}{a^2 + b^2} \right]^{2/3}$ ↳ (2)

CS Scanned with CamScanner



Now (1)-(2),

$$\sec^2 \theta - \tan^2 \theta = \left[\frac{a\bar{x}}{a^2+b^2} \right]^{2/3} - \left[\frac{b\bar{y}}{a^2+b^2} \right]^{2/3}$$

$$\Rightarrow (a^2+b^2)^{2/3} = (a\bar{x})^{2/3} - (b\bar{y})^{2/3}$$

Replace \bar{x} by x and \bar{y} by y .

$$\Rightarrow (ax)^{2/3} - (by)^{2/3} = (a^2+b^2)^{2/3}$$

Show that the evolute of the rectangular hyperbola $xy = c^2$ is $(x+y)^{2/3} - (x-y)^{2/3} = (4c)^{2/3}$

Soln.

Take $x = ct$ and $y = \frac{c}{t}$

$$\frac{dx}{dt} = c$$

$$\frac{dy}{dt} = -\frac{c}{t^2}$$

$$\frac{dy}{dx} = \frac{dy}{dt} \frac{dt}{dx} = -\frac{c}{t^2} \times \frac{1}{c}$$

$$= -\frac{1}{t^2}$$

$$\frac{d^2y}{dx^2} = \frac{2}{ct^3}$$

$$\bar{x} = 3ct + \frac{\frac{1}{t^2} [1 + \frac{1}{t^4}]}{\frac{2}{ct^3}} = ct + \frac{1}{t^2} \left[\frac{t^4+1}{t^4} \right] \frac{ct^3}{2}$$

$$= ct + \frac{c}{2t^3} [t^4+1]$$

$$= ct + \frac{ct}{2} + \frac{c}{2t^3}$$

$$\bar{x} = \frac{3ct}{2} + \frac{c}{2t^3}$$

$$\bar{y} = \frac{c}{t} + \frac{[1 + \frac{1}{t^4}]}{\frac{2}{ct^3}} = \frac{c}{t} + \frac{ct^3}{2} \left[\frac{t^4+1}{t^4} \right]$$

$$= \frac{c}{t} + \frac{c}{2t} [t^4+1] = \frac{c}{t} + \frac{ct^3}{2} + \frac{c}{2t}$$

$$\bar{y} = \frac{3c}{2t} + \frac{ct^3}{2}$$



Now, $\bar{x} + \bar{y} = \frac{3c\pm}{2} + \frac{c}{2\pm^3} + \frac{3c}{2\pm} + \frac{c\pm^3}{2}$

$$= \frac{c}{2} \left[3\pm + \frac{1}{\pm^3} + \frac{3}{\pm} + \pm^3 \right]$$

$$\bar{x} + \bar{y} = \frac{c}{2} \left[\pm + \frac{1}{\pm} \right]^3 \rightarrow (1)$$

and $\bar{x} - \bar{y} = \frac{3c\pm}{2} + \frac{c}{2\pm^3} - \frac{3c}{2\pm} - \frac{c\pm^3}{2}$

$$= \frac{c}{2} \left[3\pm + \frac{1}{\pm^3} - \frac{3}{\pm} - \pm^3 \right]$$

$$\bar{x} - \bar{y} = -\frac{c}{2} \left[\pm - \frac{1}{\pm} \right]^3 \rightarrow (2)$$

Taking power as $2/3$ on both sides of (1) & (2)

$$(\bar{x} + \bar{y})^{2/3} = \left(\frac{c}{2}\right)^{2/3} \left[\pm + \frac{1}{\pm}\right]^2$$

$$(\bar{x} - \bar{y})^{2/3} = \left(\frac{c}{2}\right)^{2/3} \left[\pm - \frac{1}{\pm}\right]^2$$

Now, $(\bar{x} + \bar{y})^{2/3} - (\bar{x} - \bar{y})^{2/3}$

$$= \left(\frac{c}{2}\right)^{2/3} \left[\left(\pm + \frac{1}{\pm}\right)^2 - \left(\pm - \frac{1}{\pm}\right)^2 \right]$$

$$= \left(\frac{c}{2}\right)^{2/3} (4)$$

Replace \bar{x} by x & \bar{y} by y .

$$(x+y)^{2/3} - (x-y)^{2/3} = 4 \left(\frac{c}{2}\right)^{2/3} = 2^2 \cdot 2^{-2/3} (c)^{2/3}$$

$$= 2^{4/3} c^{2/3}$$

$$= (4c)^{2/3} \quad (2^{4/3} = 4^{2/3})$$



51.

Show that the evolute of cycloid
 $x = a(t + \sin t)$, $y = a(1 - \cos t)$ is $x = a(t - \sin t)$;
 $y = 2a = a(1 + \cos t)$

Soln.

Given $x = a(t + \sin t)$ | $y = a(1 - \cos t)$

$$\frac{dx}{dt} = a(1 + \cos t) \quad \left| \quad \frac{dy}{dt} = a \sin t \right.$$

$$\Rightarrow \frac{dy}{dx} = \frac{dy}{dt} \cdot \frac{dt}{dx}$$

$$= a \sin t \times \frac{1}{a(1 + \cos t)}$$

$$= \frac{\sin t}{1 + \cos t}$$

$$\because \sin 2\theta = 2 \sin \theta \cos \theta$$

$$\frac{1 + \cos 2\theta}{2} = \cos^2 \theta$$

$$= \frac{2 \sin \frac{t}{2} \cos \frac{t}{2}}{2 \cos^2 \frac{t}{2}}$$

$$= \tan \frac{t}{2}$$

$$\frac{d^2 y}{dx^2} = \frac{d}{dt} \left(\frac{dy}{dx} \right) \frac{dt}{dx}$$

$$= \frac{d}{dt} \left[\tan \frac{t}{2} \right] \frac{1}{a(1 + \cos t)}$$

$$= \sec^2 \frac{t}{2} \left(\frac{1}{2} \right) \frac{1}{a(1 + \cos t)}$$

$$= \frac{\sec^2 \frac{t}{2}}{2a [2 \cos^2 \frac{t}{2}]}$$

$$= \frac{\sec^4 \frac{t}{2}}{4a}$$

$$\bar{x} = x - \frac{y_1 (1 + y_1^2)}{y_2} = a(t + \sin t) - \frac{\tan \frac{t}{2} [1 + \tan^2 \frac{t}{2}]}{\frac{\sec^4 \frac{t}{2}}{4a}}$$

$$= a(t + \sin t) - \frac{4 \tan \frac{t}{2} [\sec^2 \frac{t}{2}]}{\sec^4 \frac{t}{2}}$$



$$= a(t + \sin t) - 4a \sin t/2 \cos t/2$$

$$= at + a \sin t - 2a [2 \sin t/2 \cos t/2]$$

$$= at + a \sin t - 2a \sin t$$

$$= at + a \sin t - 2a \sin t$$

$$= at - a \sin t$$

$$\bar{x} = a(t - \sin t) \rightarrow (1)$$

$$\bar{y} = y + \frac{1 + y_1^2}{y_2}$$

$$= a(1 - \cos t) + \frac{1 + \tan^2 t/2}{\sec^4 t/2}$$

$$= a(1 - \cos t) + \frac{4a \sec^2 t/2}{\sec^4 t/2}$$

$$= a(1 - \cos t) + 4a \cos^2 t/2$$

$$= a - a \cos t + 2a [2 \cos^2 t/2]$$

$$= a - a \cos t + 2a [1 + \cos t] \because \frac{1 + \cos 2\theta}{2} = \cos^2 \theta$$

$$= a - a \cos t + 2a + 2a \cos t$$

$$\bar{y} - 2a = a + a \cos t \rightarrow (2)$$

Replace \bar{x} by x & \bar{y} by y in (1) & (2),

$$x = a(t - \sin t) \text{ \&}$$

$$(y - 2a) = a + a \cos t = a(1 + \cos t)$$

HW

1. Find the eqn. of evolute $x^{2/3} + y^{2/3} = a^{2/3}$

2. Show that the evolute of the cycloid

$$x = a(\theta - \sin \theta); y = a(1 - \cos \theta) \text{ is another}$$

$$\text{cycloid } x = a(\theta + \sin \theta); y = -a(1 - \cos \theta)$$